
 

12.1 2

Give a geometric description of
the set of points in space whose
coordinates satisfy thegivenpair
of equations
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Thepointin spaceis 6,50 sinceno z coordinate 2 0

The distance of thepoint 6,50
fromthe origin is
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3 X't y 4 2 2 The circle with center 0,0 2 andradius 2
parallel tothe xx plane

Given x2 y p2 x 42 4
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4 X2 22 25 y 3 10,3 0

isthecirclewith center 013,0 andradius 5 f y

5 X2 42 22 9 x 0

this represents a circle centered at 10.0.0
with a radius 3

t.IR42 z 4 2 100 2 2

thatis x2 y't 2 412 100
x2 y2 16 z X

X't42 62
64
100
64

x 42 64

i Xt y z 412 100 and 2 2
represent a circleof radius 8
Centered at o o 2 parallel

to the Xy plane



Describe the set of points in space
whose coordinates satisfythegiven combination
of equationsand inequalities
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